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1. ËÛ¾Û …¬ÛÙÉÛÛÍªÛ¶ÛÛé …¬ÛÙ, ©Ûé¶ÛÛé ÈýÛÛ¸Û, ¾ÛÐü«ÈÛ ©Û¬ÛÛ ËÛ¾Û ¼Û›ÛÁõ¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé Í¸ÛÌ¤ø ïõÁõÛé.  14 

…¬ÛÈÛÛ 

 …ÛÜ¬ÛÙïõ ÍÛäµÛÛÁõ¨ÛÛ ©Û¬ÛÛ ¶ÛÈÛà¶ÛàïõÁõ¨Û¶Ûà ËÛÜ¾Ûïõ ¸ÛÁõ¶Ûà …ÍÛÁõÛé ©Û¸ÛÛÍÛÛé ©Û¬ÛÛ ½ÛÛÁõ©Û¶Ûà ËÛÜ¾Ûïõ ¶ÛàÜ©Û 

ÜÈÛÉÛé ÍÛ×Ü“Û¸©Û¾ÛÛ× ˜Û˜ÛÛÙ ïõÁõÛé.  

 

2. ÈÛé©Û¶Û Ü¶ÛµÛÛÙÁõ¨Û¶ÛÛé ÍÛà¾ÛÛ×©Û Š©¸ÛÛþùïõ©ÛÛ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛà, ©Ûé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ÅÛ”ÛÛé.  14 

             …¬ÛÈÛÛ  

 ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé ƒ   

 (i) ËÛÜ¾ÛïõÛé …×„Ûé¶Ûä× Ü³ù©ÛàýÛ ÁõÛÌ¤ÖøàýÛ ïõ¾ÛàÉÛ¶Û 

 (ii) ÅÛ‟Ûä©Û¾Û ÈÛé©Û¶Û ÜÈÛÉÛé ÍÛ×Ü“Û¸©Û ˜Û˜ÛÛÙ  

 (iii) ÈÛé©Û¶Û ¶ÛàÜ©Û ÜÈÛÉÛé ˜Û˜ÛÛÙ 

 

3. ÈÛé©Û¶Û ©ÛºõÛÈÛ©ÛÛé …é¤øÅÛé ÉÛä× ? ©Û¾ÛÛÁõà ´ùÜÌ¤ø…é ÈÛé©Û¶Û¾ÛÛ× ÜÈÛÜÈÛµÛ ©ÛºõÛÈÛ©ÛÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  14 

                    …¬ÛÈÛÛ  

 ÈÛé©Û¶Û¶ÛÛé ÍÛÛ¾ÛæÜÐüïõ ÍÛÛéþùÛÉÛÜî©Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛà, ©Ûé¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ÅÛ”ÛÛé.  

 

4. ÍÛÛ¾ÛæÜÐüïõ ÍÛÛéþùÛ„ÛàÁõà¶ÛÛé …¬ÛÙ, ÍÈÛÄõ¸Û ©Û¬ÛÛ …ÍÛÁõÛé¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  14 

                …¬ÛÈÛÛ  

 ÜÁõïõÛ¦øÛë¶ÛÛé ÈÛé©Û¶Û Ü¶ÛµÛÛÙÁõ¨Û¶ÛÛé ÜÍÛ±ùÛ×©Û ¾ÛýÛÛÙþùÛ…Ûé ÍÛÛ¬Ûé ˜Û˜ÛÛë.  
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5. ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ”ÛÁõÛé ÜÈÛïõÅ¸Û ÉÛÛéµÛÛé ƒ  14 

 (1) ½ÛÛÁõ©Û¶Ûä× ÍÛÛíé¬Ûà ¾ÛÛé¤ä×ø ËÛ¾Û ÍÛ×„Û¥ø¶Û 

  (a) ýÛä¶ÛÛˆ¤éø¦ø ¤Öéø¦ø ýÛäÜ¶ÛýÛ¶Û ïõÛê„ÛóéÍÛ 

  (b) …ÛéÅÛ ˆÜ¶¦øýÛÛ ¤Öéø¦ø ýÛäÜ¶ÛýÛ¶Û ïõÛê„ÛóéÍÛ 

  (c) ˆÜ¶¦øýÛ¶Û ¶ÛéÉÛ¶ÛÅÛ ¤Öéø¦ø ýÛäÜ¶ÛýÛ¶Û ïõÛê„ÛóéÍÛ 

  (d) ÝÐüþù ¾Û›÷þæùÁõ ÍÛ×„Û¥ø¶Û  

 (2) „ïõ¾ÛÙ˜ÛÛÁõà‟ – ïõýÛÛ ½ÛÛ„Û¶ÛÛé ŠÅÅÛé”Û ïõÁéõ ™öé ? 

  (a) ËÛ¾Û¼ÛÇ ›÷é ïõÛýÛÙÁõ©Û ™öé.  

  (b) ÈÛÍ©Ûà ›÷é ïõÛýÛÙÁõ©Û ™öé.  

  (c) ©Ûé ÈÛÍ©Ûà ïéõ ›é÷¾Û¶Ûé ïõÛ¾Û ïõÁõÈÛÛ ¸ÛóéÜÁõ©Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. 

   (d) ËÛ¾Û¼ÛÇ ›÷é ¼ÛéÁõÛé›÷„ÛÛÁõà¾ÛÛ× …ÛÈÛé ™öé.  

 (3) „ïéõÜ¸Û¤øÅÛ‟ ¸ÛäÍ©Ûïõ¶ÛÛ ÅÛé”Ûïõ ïõÛé¨Û ™öé ? 

  (a) ¾ÛÛÅ¬ÛÍÛ (b) ïõÛÅÛÙ ¾ÛÛîÍÛÙ 

  (c) ¦éøÜÈÛ¦ø ÜÁõïõÛ¦øÛë (d) ›÷é.¼Ûà. îÅÛïÙõ 

 (4) ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× ïõÛ¾ÛþùÛÁõÛé¶Ûà ½ÛÛ„ÛàþùÛÁõà¶ÛÛé ¾Ûä”ýÛ Ðéü©Ûä ÉÛä× ™öé ? 

  (a) …ÛÜ¬ÛÙïõ  (b) ¾Û¶ÛÛéÈÛíéßÛÛÜ¶Ûïõ  

  (c) ¼Û×¶Ûé (a) …¶Ûé (b)  (d) Š¸ÛÁõ¾ÛÛ×¬Ûà ïõÛéˆ ¶ÛÐüá 

 (5) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõˆ ¼ÛÛ¼Û©Û ÍÛÛ¾ÛæÜÐüïõ ÍÛÛéþùÛ„ÛàÁõà¶Ûé …×©Û„ÛÙ©Û ™öé ? 

  (a) ïõÛ¾ÛþùÛÁõÛé¶Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û 

  (b) ïõÛ¾ÛþùÛÁõÛé (ËÛ¾Û)¶Ûä× ïõÅýÛÛ¨Û 

  (c) ÍÛ×Í¬ÛÛïõàýÛ ¼ÛÛ¼Û©Û 

  (d) Š¸ÛÁõ¶Ûà ªÛ¨ÛéýÛ ¼ÛÛ¼Û©ÛÛé  

 (6) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà ïõýÛä× ¾Ûä”ýÛ ïõÛÁõ¨Û ™öé ïéõ ›÷é ½ÛÛÁõ©Û¾ÛÛ×, ÍÛ×˜ÛÛÅÛ¶Û¾ÛÛ× ïõÛ¾ÛþùÛÁõÛé¶Ûà ½ÛÛ„ÛàþùÛÁõà “ÛéªÛé 

ÍÛºõÇ ÁõÔä× ¶Û¬Ûà ?  

  (a) ¤Öéø¦ø ýÛäÜ¶ÛýÛ¶Û¶Ûà …¶Ûéïõ©ÛÛ ©Û¬ÛÛ ©Ûé¾Û¶Ûà ÈÛ˜˜Ûé¶ÛÛ× ‟ÛÌÛÙ¨Û 

  (b) ïõÛýÛÙÉÛíéÅÛà¾ÛÛ× ¾Ûä×¡öÈÛ¨Û ©Û¬ÛÛ ¶ÛïõÅÛ©ÛÛ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ  

  (c) ÜÉÛ“Û¨Û ©Û¬ÛÛ ©ÛÛÅÛà¾Û¶ÛÛé …½ÛÛÈÛ  

  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ ›÷ ïõÛÁõ¨ÛÛé  
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 (7) ÈÛé©Û¶Û ˜ÛæïõÈÛ¨Ûà¶ÛÛé ïõÛýÛþùÛé îýÛÛ× ÅÛÛ„Ûä ¸Û¦éø ™öé ? 

  (a) ÍÛ¾Û„Ûó ½ÛÛÁõ©Û¾ÛÛ×  

  (b) ›÷¾¾Ûä …¶Ûé ïõÛÉ¾ÛàÁõ ÜÍÛÈÛÛýÛ¶ÛÛ× ½ÛÛÁõ©Û¾ÛÛ×  

  (c) ºõî©Û ›÷¾¾Ûä …¶Ûé ïõÛÉ¾ÛàÁõ¾ÛÛ×  

  (d) ºõî©Û ¾ÛýÛÛÙÜþù©Û ïõÛÁõ”ÛÛ¶ÛÛ…Ûé¾ÛÛ×  

 (8) FERA – „ºéõÁõÛ‟ ¶ÛÛé ÍÛ×¸Ûæ¨ÛÙ …¬ÛÙ  

  (a) ºõÛéÁéõ¶Û …éîÍÛ¸ÛÛé¤Ùø ÜÁõÈÛéÅýÛä…éÉÛ¶Û …éî¤ø  

  (b) º×õ¦ø …éîÍÛ˜Ûé¶›÷ ÜÁõÍÛÛéÍÛÙ …éî¤ø  

  (c) ºõÛýÛ¶ÛÛ¶ÍÛ …é¶¦ø …éîÍÛ¸ÛÛé¤Ùø Áéõ„ýÛäÅÛéÉÛ¶Û …éÍÛÛéÜÍÛ…éÉÛ¶Û  

  (d) ºõÛéÁéõ¶Û …éîÍÛ˜Ûé¶›÷ Áéõ„ýÛäÅÛéÉÛ¶Û …éî¤ø  

 (9) ½ÛÛÁõ©Û¾ÛÛ× …ÛÜ¬ÛÙïõ ÍÛäµÛÛÁõÛ Ü¶ÛÌºõÇ þéù”ÛÛýÛ ™öé. ïõÛÁõ¨Û ïéõ  

  (a) ÅÛÜ“Û©Û Í©ÛÁõ ¸ÛÁõ ¶ÛÛ¨ÛÛïõàýÛ ”ÛÛ² ÁõÛ”ÛÈÛà.  

  (b) ÍÛ×¸Ûæ¨ÛÙ¸Û¨Ûé …Ûíé²ÛéÜ„Ûïõ …×ïäõÉÛ¾Ûäî©Û …¾ÛÅÛ.  

  (c) ÍÛ×¸Ûæ¨ÛÙ¸Û¨Ûé ÈÛé¸ÛÛÜÁõïõ …¬ÛÙ©Û×ªÛ ”ÛäÅÅÛä× ¾ÛäïõÈÛä×.  

  (d) Š¸ÛÁõ¶ÛÛ× ¼ÛµÛÛ ›÷ ïõÛÁõ¨ÛÛé. 

 (10) ›ÛÐéüÁõ ÍÛéÈÛÛ¶ÛÛ ïõÛýÛÛë¾ÛÛ× „…ÍîýÛÛ¾Û©Û ¤ÖøÛ¶ÍÛºõÁõ‟ ›ÛÐéüÁõ¬Ûà ”ÛÛ¶Û„Ûà ¾ÛÛÜÅÛïõà¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÉÛä× ÍÛæ˜ÛÈÛé 

™öé ? 

  (a) ÈÛíéÊÈÛàïõÁõ¨Û 

  (b) ”ÛÛ¶Û„ÛàïõÁõ¨Û 

  (c) ¾Ûæ¦øàÁõÛéïõÛ¨Û¶Ûà Ü¶ÛÁõÍÛ©ÛÛ (¦øàÍÛˆ¶ÈÛéÍ¤ø¾Ûé¶¤ø) 

  (d) ŠþùÛÁõàïõÁõ¨Û  

 (11) ÈÛé©Û¶ÛþùÁõ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÈÛÛ¬Ûà  

  (a) ÈÛµÛÛÁéõ ïõ¾ÛÙ˜ÛÛÁõà…Ûé¶Ûé …ÛïõÌÛÙ¨Û ¬ÛÛýÛ ™öé.  

  (b) ïõ¾ÛÙ˜ÛÛÁõà…Ûé¶Ûà ïäõÅÛ …ÛÈÛïõ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÛýÛ ™öé, šýÛÛÁéõ ËÛ¾Û ¾ÛÛ¤éø¶Ûà ¾ÛÛ×„Û ÈÛé©Û¶Û 

ÜÍ¬ÛÜ©ÛÍ¬ÛÛ¸Ûïõ ¼Û¶Ûé ™öé.  

  (c) ‟Û¨Ûà ÈÛÛÁõ ïõÛéˆ ¾Ûäî©Û ¼Û›ÛÁõ¾ÛÛ× „ÛéÁõïõÛýÛþéùÍÛÁõ Áõà©Ûé ¸Û¨Û ›ÛéÈÛÛ ¾ÛÇé ™öé.  

  (d) ‟Û¨Ûà ÈÛÛÁõ ËÛ¾Û¶Ûà ¾ÛÛ×„Û¾ÛÛ× ¼ÛþùÅÛÛÈÛ (shift) ¶Ûä× ïõÛÁõ¨Û ¼Û¶Ûé ™öé.  
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 (12) ›Ûé ÅÛ‟Ûä©Û¾ÛÈÛé©Û¶Û ÍÛ¾ÛÛ¶Û ÈÛé©Û¶ÛþùÁõ ¸ÛÁõ ÍÛäýÛÛéÜ›÷©Û ¬ÛýÛéÅÛ ÐüÛéýÛ, ©ÛÛé ¸Û™öà …¶ýÛ ÈÛÍ©Ûä…Ûé ÍÛ¾ÛÛ¶Û ™öé. 
ïõÛÁõ¨Û ïéõ  

  (a) ËÛ¾Û ¼Û›ÛÁõ¾ÛÛ× ïõþùÛ˜Û ÍÛ¾ÛÛ¶Û©ÛÛõ ÐüÛéˆ ÉÛïéõ.  
  (b) ËÛ¾Û ¼Û›ÛÁõ¾ÛÛ× ïõþùÛ˜Û ÈÛµÛÛÁéõ ¸Û¦ø©Ûà ¾ÛÛ×„Û ÐüÛéˆ ÉÛïéõ.  
  (c) ËÛ¾Û ¼Û›ÛÁõ¾ÛÛ× ÈÛµÛÛÁéõ ¸Û¦ø©ÛÛé ¸ÛäÁõÈÛ¥øÛé ÐüÛéˆ ÉÛïéõ.  
  (d) ïõþùÛ˜Û ÈÛµÛÛÁéõ ïõ¾ÛÙ˜ÛÛÁõà…Ûé¶Ûé ÁõÛéïõÈÛÛ¾ÛÛ× …ÛÈÛé.  

 (13) …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ ¾Û›æ÷Áõ ÍÛ×„Û¥ø¶Û¶Ûä× ÈÛ¦ä×ø¾Û¬Ûïõ îýÛÛ× ™öé ? 

  (a) ¾Ûä×¼Ûˆ (b) ¶ýÛæýÛÛéïÙõ 
  (c) ÅÛ×¦ø¶Û (d) œ÷¶ÛàÈÛÛ 

 (14) ½ÛÛÁõ©Û¶ÛÛ ›Û¨Ûà©ÛÛ ¾Û›æ÷Áõ ¶Ûé©ÛÛ  

  (a) ÈÛà.ÈÛà. „ÛàÁõà  (b) …é¾Û.…éÅÛ. „ÛÛ×µÛà  
  (c) ¾ÛÐüÛ©¾ÛÛ „ÛÛ×µÛà  (d) ¶ÛàÅÛ¾Û ÍÛ×œ÷ÈÛ Áéõføà 

____________ 
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1. Describe the meaning, scope and importance of Labour economics. Explain with 

reference to special characteristics of labour market. 14 

OR 

 Discuss impact of economic reforms and innovations on labours and describe in a 

short, Indian Labour Policy. 

 

2. Explain the marginal productivity theory of wage and discuss its limitations.  14 

                  OR 

 Write notes on two from below : 

 (i) Second National Commission of the labour. 

 (ii) Discuss about Minimum Wages. 

 (iii) Discuss about Wage Policy. 

 

3. What are Wage differentials ? Discuss the different types of wages, in your point of 

view.    14 

                                 OR 

 Explain the collective bargaining theory of wage and discuss its limitations. 

 

4. Discuss the meaning, nature and effects of collective bargaining. 14 

                             OR 

 Discuss the wage theory of David Ricardo and its limitations. 
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5. Give right options from below : 14 

 (1) India‟s biggest Labour Union 

   (a) United Trade Union Congress 

   (b) All India Trade Union Congress 

   (c) Indian National Trade Union Congress 

   (d) Hind Mazdoor Sangathan 

 (2) Workforce refers to that part of  

   (a) Labour force which is employed 

   (b) Population which is employed 

   (c) Population which is force to work 

   (d) Labour force which is unemployed 

 (3) The author of the book “Capital” 

   (a) Malthus (b) Karl Marx 

   (c) David Ricardo (d) J.B. Clark  

 (4) Workers participation in Management has ________ objectives. 

   (a) Economic (b) Psychological 

   (c) Both (a) and (b) (d) None of these 

 (5) Which of the following matter are usually brought under collective bargaining ? 

   (a) Workers conditions 

   (b) Labour Welfare 

   (c) Organizational matter 

   (d) All of the above 

 (6) Which of the following are the main reasons of workers participations in 

Management not getting successfully in India ? 

   (a) Multiplicity of Trade Union and conflicts between them 

   (b) Confusion and duplication of functions 

   (c) Lack of Education and training 

   (d) All of the above 
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 (7) The payment of wages is applicable to __________ 

   (a) Whole of India 

   (b) India except J & K 

   (c) Only to J & K 

   (d) Only to limited factories 

 (8) FERA stands for ? 

   (a) Foreign Export Revaluation Act 

   (b) Funds Exchange Resource Act 

   (c) Finance and Export Regulation Association 

   (d) Foreign Exchange Regulation Act 

 (9) The economic reforms have failed to _________. 

   (a) keep fiscal deficits to the targeted level 

   (b) fully implement industrial deregulation 

   (c) fully open the economy to trade 

   (d) all of the above 

 (10) What refers to the transfer to assets of services functions from public to private 

ownership ? 

   (a) Globalization  

   (b) Privatization 

   (c) Disinvestment 

   (d) Liberalization 

 (11) An increase in the wage rate  

   (a) will usually lead to more people employed 

  (b) will increase total earnings of employees if the demand for labour is wage 

elastic. 

   (c) is illegal in a free market 

   (d) will cause a shift in the demand for labour 
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 (12) If the minimum wage is above the equilibrium wage rate then other things being 

equal because 

   (a) There will be equilibrium in the labour market. 

   (b) There will excess demand in the labour market. 

   (c) There will be excess supply in the labour market.  

   (d) More people will be employed 

 (13) Head office of the international labour organization is at 

   (a) Mumbai (b) New York 

   (c) London (d) Geneva 

 (14) India‟s well known labour leader 

   (a) V.V. Giri (b) M.L. Gandhi 

   (c) Mahatma Gandhi (d) Nilam Sanjeev Reddy 

____________ 


